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����, ����	, 
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1. ���������, ��	�
� �
��� ��
 �
��� �������� � ������
����, ����
�� 

�����
���
� 0,050 M ���
��� NaOH. ��������	 ��������� 
� �
��, ��� ������
� 
����, �
 ����
� ������ ��
	 ���
	�	 
������� NaOH � 1,000 ��
���	� ����	, 
�����
�� ����� �� ��
�� � ��������� ��
��

����� ���������� 
�
����
���. 
�� 
��
��������� 10,00 c�3 �����
����

��� ���
���� 	��� � ����
�� 12,15 c�3 
0,05000 M ���
���� ����
�� �����
� – ��������� ���
���� 
�
����
�� 
�� ����. 
(1 M ���
���: � 1 ��3 ���
���� ���
����
� 1 ���� ��!��
��.) 
a) "�����
��
�, ������� ������ ���
	�� NaOH, ��
��	� ��������� ������ � 

����	.             (2) 
b) #������ �������
��� ���� ���$�
 ������
� ��������� � �����	 

��
�����	�� ���
���	, �
��� �����
���
� ���
��� 
	$
�� ��
��

����� 
(0,050 M)? ��������$�
�, �
� ���

��
� ���
����� ���
� 1,0 �/��3.      (4) 6 � 
 

2. %�!��
�� C �����$�
 &����

� X � Y, � ��!��
�� D �����$�
 &����

� X � Z. 
#	��� ���������� 
������ &����

�� X � Y ���
� ����������	 
����	 
&����

� Z, ������ &����

� Y � Z 
�����
�� � ������������� ���
��� � ��
�� 
������� � �����
�� ��	����. '���� ���
�
�� � �
��� &����

� Z � ������ ��� 
������, ��� ����� ���
�
�� � �
��� &����

� X. 
a) *�������
� ��� ����!� �����
�� &����

� X, Y � Z.     (5) 
%�!��
�� C � D �������	�
 � ��������

�� ��

��� �����
�
� 
�
���, ��
���� 
���
��
 �� ��
� �������: 

CaCO3 
t �
�  A + B   A + D = G    2E 

t �
�  Na2CO3 + B +D 

NaCl + C + B + D = E + F  G + 2F = CaCl2 + 2C + 2D 
#	����
�� 	���
�
�� �������: 2NaCl + CaCO3 = Na2CO3 + CaCl2. 
b) ������
� ����	�� � 
����
�� ��!��
� A–G.        (7) 12 � 

 
3. ��������	
� A: � �
���� �������, ��������� ������ ���������, ������
���, 

�� ��	���� ����, ��� �������� 
� ������	��� ����� ��
� !����� (~1 ��3). 
   -�

��: % 6
���� � ���
�, ����� 	���� 8��� 9�����, ����
�� 
������
	�� � 
�����
�� ���
� ���
��
�
��

� 10 °C (283 K) � 97,3 ��a. #���
�� ��>�� ��
��� 
����� ���
�����
 0,5 ��3. "���	� ���
��� ���� ����
 6370 ��, � ����	� 
�����$�
��, ����
�� �������, � �
������
�� ���� 
��!�
�� 15 ��. ���!��� 
������
��
� ���� ��$
� 
��
� �� ����	�� S = 4Ar2, � ��>�� ���� – �� 
����	�� V = 4/3·Ar3. 
   -���$�
� �����
���, �����
�� 	
���$��
�� ���
�� ��� 
�
. ���-
�����

��	�
� �
��
 � 
���� ���
�� �����. (pV = nRT, R = 8,314 -$/(����·K)) (9) 
��������	
� B: "�������
����
� ��������� ����#��� (���	� 
$%%���
�	��
) ����������
. 
   -�

��:  *�
�� �� ����� ���	���
�� �������
������� �������
�� �����
�� 
Oscillococcinum, ��
����, �� ��

�� ���������
���, �������
 ����
��� ������. 
��� ��� �����
����
�� ������
 �� ���&��
��������

��� �� ��
�� ���
� ����
� 
	
�� ������
��

��� ��!��
��, ��
���� ���������
 200 ��� ������. ��� ��$��� 

��������
�� ��
��

����� 	��
����
�� � 100 ���. -�� �����
����
�� ��
�� 
���� �������	�
 1 ��3 ���	��

��� ��������

��� &��
���
�. 
   *��
�
� ��� ����!� �����
�� �������
�� �����	�, ��
���� �����$�
�� � 	
�� 
������ m ��, � �
��
�
�, ����
 �� ����� 	����
�
� 	
�	 � �����
� �����
����
�� 
������
��. 
��������$�
�, �
� 75% �
 ����� 	
�� ���
�����
 ����.       (4) 13 � 

 
4. E��
��� F�	�	, #�
���	 � G����	 ���� ����
�� ��

�������
� �� ���
��� 

������� 3,0 �� Cu(NO3)2. F�	� ������ � �����
�� �����

� ���
��� 
��
��

������

�� HNO3 (����	�
�: ����, NO2 � ����), G���� $� ������ ���
��� 
��������

�� HNO3 (� ����� ����	�
�� NO). #�
��� ��������
���
� 
����� 
���
�� ������� 
� ����	��, ������� ���� �� ������ ���� (II), � ������� � 
�����	 ���

�� �����
�. 
a) ������
� 	���
�
�� ������������ �������.      (3) 
b) "�����
��
� �������
�� (� �����) �����������

�� HNO3 ��� ��

��� ��$���� 

���
�.             (3) 
c) "�����
��
� �������
�� (� �����) �����
��� ����, ��������������� � ��

��� 

��$���� ���
�.            (3) 
d) *���
	�
�, 	 ���� �� ���
��� ��
�� ��

��� ��� ����� ������� � ����� 

&�������
��.              (1) 10 � 
(&������� �����	���	
� �� �
�

, ������� ��	���, 2004 �.) 
 

5. % ��
�� Z-������� ���������� 	��
� $����
��� ��������, ������� ��� � ���
��� 
��
��

������

�� ���
�� �����
�. *
 
� �
��, �
� �
 &
��� $����
�� ������� 
�
�
���
�� 
����� ����
��, 
�� ��� $����� ��������	�
�� � ��������
��� ���� A 
� ������
��� 
����
��
��� ���� B (%(O) = 49,95). %��������� �� �����
�, 
$����
�� ������� �
������ � �
���
	 Z-�������� ����
	, 
� �� ���
��� 
	������
�� ��� ����
���� �����
� ����� �� �
���, � ����
� ����������, 
� 
���
��
	� ����. % ���	��
�
� ������������� 
���� Z-������� �
�� 
� ����	�� 
���
����
��, ��������� ��������
�� �����
�
�� C (%(Z) = 77,36), 
��$� 
������������ ��!��
�� D (%(Z) = 59,93). '��
��
� ���������� 
� ����	�� 
�$����
��, $����
�� ������� ��� $� ������ Z-��������, ��
	� � ��� �
���
	 
����	 � $����� ����������. ����� � ��

��
 � ����������, Z-������� ���������, 
��������� ��!��
�� D. ����� &
��� Z-������� �������� ��!���. 
   J����
�� ������� ����� 
���� �����
�
�� ��
���	 Z � ����� 
���� 
������
�
��, � ��
���� ���� �
� �����

�, 
� �� �
���, �
� ������ ��
���� Z 
�������	�
 � �����
���
�� � ������
� ��-�� �� ������
�, ����
��
� � �
�����
�. 
#����
�
�� D, � ��
���� �
���
� ������
�� Z ���
� IV, �������	�
 � �����
�� 
�����
���. 
a) *�������
� �����
�
�� A–D, � 
��$� �����
��� - &����

 Z.   (6) 
b) ������
� 	���
�
�� ���� �����

�� �������.        (4) 10 � 

 
6. L���
��
� �������

�� 	���
�
�� ������
���
�-����
�
���
���
�� ������� � 

����
���
� ��&������

�. ������
� �	����
�� (����
�����) ��

�� 
	���
�
�� �������, ���	������ ��� ���$�
�� 
��� �������

�� �������, – �
� 

� ���$
� �������
� ������
���
�-����
�
���
���
	� �������. 

Bi(OH)3 + Cl2 + KOH 
t �
�  KCl + ... + ... 

KBiO3 + H2SO4 + MnSO4 Q ... + 4KMnO4 + ... + ... 
KMnO4 + HCl Q MnCl2 + ... + ... + ...         9 � 


